1. There exists a triangle A BC satisfying the conditions
(a) bsind=a, A<mn?2 (1986 - 2 Marks)
(b) bsind>a, A>w2
(¢) bsindA>a, A<m/2
(d) bsind<a,A<n/2b>a
(e) bsind<a,A>n/2,b=a

Solution: -
1. (a,d)Wehave
smd_smB _ ; sin B=bsin 4
a b

(@ bsmA=a—=> asmB=a
= simnB=1= B=n2
Since A <m/2, the AABC is possible.
(b) bsind>a = asinB>a = sinB>1
Which is impossible. Hence the possibility (b) is ruled out.
Similarly (c) can be shown to be impossible.
(d) bsind<a = asinB<a = sinB<1sovalueof ZB
exists.
Now,b>a = B> A. Sinced<mn/2
The AABC 1s possible when B > or < m/2.
(e) Sinceb=a,wehaveB=A4. ButA>n/?2
B > /2. But this 1s not possible for any triangle.



